Time

(1) the server sends its response

D)

Server HTTP/1.1 200 OK
—

<HTML>

2) The load balancer inserts a cookie
and switches to the DATA phase

)

HTTP/1.1 200 OK
T Load Balancer ..

4) After a delay, the server
retransmits its response.

Server HTTP/1.1 200 OK
— /

<HTML>

(expecting headers) ——_ set-cookie: SrRv=1
<HTML>

5) The load balancer leaves the
response intact, believing it is
only DATA.

T Load Balancer HITP/1.1 200 OK

(expecting data) SHIML>

T Client

3) The packet gets lost

between the LB and
the client !

6) The client receives a
response without the cookie




